5 520 AR T7IFL7INTEFEKRE 2RTES B & M 1011 Wed BREY vUk)—
IE K £ =l IE K £ a7 B K £ 23a7F g K £ Aa7
1 BN FEEE FYYF 3yt 70 (37,33) 35 A\ A% vox b3y 81 (37.44) 84 JEH i L4 20y 87 (47,40)
2 EHm|SEY/S Wk 71 (34,37) 44 FH B A7 sab 82 (44,38) s FF A5HY Y 8T (46,41)
3 RE FTF AN 544" 72 (37,35) WA B vvs- rFE 82 (43,39) hit 3L ThAT ko 87 (45,42)
4 FLIl I Y 445 75 (42,33) Rk BN v avzy 82 (42,40 A JKME AFAY Fay 8T (44,43)
# BBty 75 (38,37) L wve vl 82 (41,41) MR BT X3V vady 87 (44,43)
6 fhE 95 Fh=y Y 76 (43,33) SR B ARk vy h 82 (40,42) JLIL 6T wAve %27 87 (44,43) 6 ?80 dg PAR l?2
$4K 8% 222 TH 76 (38,38) wo BEavrsss 82 (38,44) E5 35 ¥/ v 8T (43,44) i y
8 @ —A VFFN HAT 7T (41,36) 50 A Foft Av7¥ AA% 83 (46,37) TN Bz Med Txeh 87 (42,45)
PEUE MR =V e T 7T (41,36) PN S8 4599 k) 83 (44,39) 93 ¥ ¥EEr =M toed 88 (49,39)
HNEE TRE AN VYA 77 (39,38) HEE WA vevsar 83 (44,39) JER IS VST~ Y 88 (46,42) | ' 3 5 %
JbA Rl ¥5Eh 4vF 77 (39,38) 50 B A~ anak 83 (44,39) R EA AAHT T4 88 (45,43) I "‘,l'- J—
12 A% —8 tav px'he 78 (41,37) IG5 ST THE rvh 83 (43,40) fERE 3542 Fh E7% 88 (45,43) a
KA PREE 447 £ 78 (41,37) oK M 77EN b 83 (43,40) FE R A/vx ayy” 88 (42,46) #_ q %
HO FASF<T7 78 (40,38) WA —¥r7% 4F 83 (43,40) 98 YED EA¥IT U 89 (48,41) ﬁ
VR JeHh Fhy =425 78 (39,39) {RAF fi— ¥ror 2y 83 (43,40) HHE T4 TEY FUY 89 (48,41)
&F RFE ML 78 (39,39) W ER vIE 7YY 83 (4241) B B s Vavs 89 (46,43)
17 B5IF LBA Av<4 ko7 79 (42,37) BR X+ vy 83 (42,41) R BEHR A Jay¥ 89 (44,45) -
2/ A EFYFvay 79 (40,39) ERE a3y v 83 (42,41) I&ME /AL S vATY 89 (43,46) L{ﬁ 38 %f'\
FEEEZ W7 a9y 79 (40,39) M |k 294 5414 83 (42,41) 103 /Nbk BESE an'Yy 39~ 90 (47,43)
R IGE T <HF 79 (40,39) B S8 V74 LF% 83 (40,43) BN HE DS AYE 90 (46.44) N Hﬁ ‘&ﬁ
ARt & 447 54 79 (40,39) AR 53R <Un'T 45% 83 (40,43) K ARF <ab 90 (45,45) ‘/ﬁ
KN FEE A4H7 b2 79 (40,39) 64 MEEF MERE 9z, TRba 84 (45,39) EH E 74 443 90 (45,45)
IEE BB Aty 2574 79 (40,39) B Eh ToAT bFE 84 (43,41 Wz P #h Y=/9F 90 (45,45)
WA B YeEh3ay 79 (39,40) IR BESE Tvvay Y& 84 (42,42) 108 #kJF th— ~¥'77 345 91 (50,41)
Ful K eAv< 44 79 (39,40) B BLE Any ko 84 (41,43) AE ER AVrE <t 91 (49,42)
1EfE #t Fby 27% 79 (39,40) AR B AFE 7TF 84 (41,43) B3t (E8 54 /7T 91 (46,45)
I #Z AF Y+ vay 79 (38,41) 69 Z& Fai T A% 85 (46,39) KM &) 543y 91 (42,49)
28 $4K FE3L A2'% 4Akn 80 (42,38) 1% JE7] ¥/ kov 85 (45,40) 112 £ #K 445 it 92 (48,44)
B EEA 7407 <9 80 (42,38) T BT L5785 (45,40) btk 7 $43330 92 (46,46)
B/ B vAhT fvy 80 (41,39) EJR W /N7 AYTE 85 (45,40) T2 EKVFY 2y 92 (4547)
T BE w97 AV 80 (41,39) A LB AvhY beY 85 (44,41) | BE Iy 92 (45,47
T BE NS AR 80 (41,39) A IV Vs 85 (43,42) 116 {EfE 5E0E ¥ £+7% 93 (52,41)
NBFIESE A/ <3y 80 (39,41) MRS MR ATy kna 85 (41,44) Eft Fg 4HLT7 AT 93 (47,46)
% — A b AR 80 (39,41) EOR B 0% a7 85 (41,44) Wiy 7EHE Yo'y /04 93 (47,46)
35 BEX BEI AU<4 LF7 8l (44,37) 77 SLH BBARER 4v4 3u4 86 (47,39) F% =R b8 auy 93 (44,49)
HF FEE A4 403 81 (43,38) +B t#— vFY rv4F 86 (46,40) 120 FniR W ARIFFY 94 (47,47)
ZEkE I 81 (42,39) WH E% vy <175 86 (44,42) HE £ Yy 74 94 (45,49)
FAAS GRES AXE Y2y 81 (42,39) WBE &9y 4hy 86 (43,43) 122 i R x4 ¥2/) 95 (55,40)
T BT 57 307 81 (41,40) LE KE§ TFVF 4% 86 (42,44) MHE B Y FAY 95 (48,47)
YR A& /T 2% 81 (40,41) BeE HE srvvavk 86 (42,44) 124 LK fith Yoxb b2Y 98 (57,41)
LR M Y2y 81 (40,41) WE == <vtavy’ 86 (42,44) A E£FF AFE 74 98 (52,46)
HIE &% Y 4 81 (40,41) 84 EHHF &ffy 347 ME/Y 8T (49,38) 126 fERE @ My Y290 99 (52,47)




